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INTERMEDIATE EXAMINATION – 2022 (ANNUAL) 

I. A. (TH) 

Geography (Elective)

Total No. of questions : 70+20+6=96

Instructions for the candidates : 

1- ijh{kkFkhZ mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; fy[ksaA 

Candidate must enter his/her Question Booklet Serial No. (10 

Digits) in the OMR Answer Sheet.  

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz’u i= dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

Extra time of 15 minutes has been allotted for the candidates to 

read the question paper carefully. 

5- ;g iz’u&i= nks [k.Mksa esa gS %  ,oa  

This question paper has two sections : Section-A and Section-B. 

le; % 3 ?kaVs 15 feuV 

Time :- 3 Hours 15 minutes 
iw.kkZad & 70 

Full marks - 70 

323 



2 
 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa ftuesa ls fdUgha 35 iz’uksa ds mÙkj nsus gSaA 35 

iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 mÙkjksa dk gh ewY;kadu gksxkA izR;sd 

iz’u ds fy, 1 vad fu/kkZfjr gSA miyC/k djk;s x, OMR mÙkj i=d esa 

p;fur fodYi dks uhys @ dkys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds 

âkbVuj @ rjy inkFkZ @ CysM @ uk[kwu vkfn dk OMR mÙkj i=d esa 

iz;ksx djuk euk gS( vU;Fkk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, only the first 35 answers only will be evaluated. 

Each question carries 1 mark. Darken the selected circle with blue 

/ black ball pen on the given OMR Answer Sheet. Do not use 

Whitener / liquid / blade / nail etc on OMR Answer Sheet, 

otherwise the result will be invalid. 

7- [k.M&c esa 20 y?kq mÙkjh; iz’u gSa ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsus gSaA 

izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA buds vfrfjDr bl [k.M esa 6 nh?kZ 

mÙkjh; iz’u gSa ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsus gSaA izR;sd iz’u ds fy, 5 

vad fu/kkZfjr gSaA 

In Section-B, there are 20 Short Answer Type questions out of 

which any 10 questions are to be answered. Each question carries 

2 marks. Apart from these there are 6 Long Answer Type  

questions in this section out of which any 3 questions are to be 

answered. Each question carries 5 marks. 
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8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any type of electronic appliance is strictly prohibited.

 Section-A 

Objective Type Questions 

iz'u la[;k 1 ls 70 rd ds lkFk pkj fodYi fn, x, gSa ftuesa ls flQZ ,d lgh gSA vius 

}kjk pqus x;s fodYi dks OMR mÙkj iqfLrdk ij fpfàr djsaA flQZ 35 iz’uksa ds mÙkj nsus 

gaSA           (35x1=50) 

Question Nos. 1 to 70 have four options out of which only one is correct. 

Mark your selected option on the OMR Answer Sheet. Only 35 questions are 

to be answered.         (35x1=50) 

1- uofu’p;okn ladYiuk dk izfriknu fdlus fd;k \ 

(A)  vYcVZ fMekaft;k¡   (B)  vYÝsM gsVuj 

(C)  fxzfQFk Vsyj   (D)  ÝsfMªd jSVtsy 

Who propounded the concept of Neo determinism ? 

(A) Albert Demangeon   (B) Alfred Hettner 

(C) Griffith Taylor   (D) Friedrich Ratzel 

2- fuEufyf[kr esa ls dkSu ekuo Hkwxksy dk mikxe ugha gS \ 

(A) LFkkfud laxBu   (B) izknsf’kd fo’ys"k.k 

(C) {ks=h; foHksnu   (D) ek=kRed Økafr 

Which of the following is not an approach in Human geography ? 
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(A) Spatial organisation  (B) Regional analysis 

(C) Areal differentiation  (D) Quantitative revolution 

3- fdlus dgk] ^^ekuo Hkwxksy vfLFkj ìFoh vkSj fØ;k’khy ekuo ds chp 

ifjorZu’khy lEcU/kksa dk v/;;u gSA**  

(A) fjVj     (B) jSVtsy 

(C) Vsyj     (D) ,yu lh- lsEiy 

Who said, “Human geography is the study of the changing 

relationship between the unresting man and the unstable earth.”  

(A) Ritter     (B) Ratzel 

(C) Taylor    (D) Ellen C. Semple 

4- lSU; Hkwxksy] ekuo Hkwxksy ds fdl {ks= dk mi{ks= gS \ 

(A) lkekftd Hkwxksy   (B) tula[;k Hkwxksy 

(C) vkfFkZd Hkwxksy   (D) jktuhfrd Hkwxksy 

Military geography is a sub-field of which field of Human 

geography? 

(A) Social Geography  (B) Population Geography 

(C) Economic Geography (D) Political Geography 

5- fuEufyf[kr esa ls dkSu {ks= l?ku tula[;k okyk gS \ 

(A) Hkwe/;js[kh; izns’k   (B) /kzqoh; izns’k 

(C) e:LFkyh; {ks=   (D) nf{k.k iwoZ ,f’k;k 

Which of the following is a densely populated region ? 
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(A) Equatorial region  (B) Polar region 

(C) Desert region   (D) South East Asia 

6- fuEufyf[kr esa dkSu tu&LFkkukUrj.k dk izfrd"kZ dkjd ugha gS \ 

(A) 'kS{kf.kd lqfo/kk,¡   (B) csjkstxkjh 

(C) egkekfj;k¡    (D) tykHkko 

Which of the following is not a push factor of human migration ? 

(A) Educational facilities  (B) Unemployment 

(C) Epidemics   (D) Water shortage 

7- tula[;k òf) nj lokZf/kd gS % 

(A) vÝhdk esa    (B) ,f’k;k esa 

(C) mÙkj vesfjdk esa   (D) nf{k.k vesfjdk esa 

The highest growth rate of populatin is in : 

(A) Africa    (B) Asia 

(C) North America   (D) South America 

8- 1650 bZ0 esa fo’o dh tula[;k Fkh % 

(A) 50 djksM+    (B) 60 djksM+ 

(C) 70 djksM+    (D) 55 djksM+ 

In 1650 A. D. population of the world was : 

(A) 50 crores    (B) 60 crores 

(C) 70 crores   (D) 55 crores 
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9- fuEufyf[kr la[;k esa dkSu tula[;k ds dk;Z’khy vk;q oxZ dk izfrfuf/kRo 

djrh gS \ 

(A) 15 ls 65    (B) 18 ls 60 

(C) 18 ls 62    (D) 15 ls 59 

Which of the following figures represents the working age group of 

population ? 

(A) 15 to 65    (B) 18 to 60 

(C) 18 to 62    (D) 15 to 59 

10- fuEufyf[kr ns’kksa esa fdldk fyax vuqikr fo’o esa lokZf/kd gS \ 

(A) la;qDr vjc vehjkr  (B) ySVfo;k 

(C) Ýkal    (D) tkiku 

Which of the following countries has the highest sex-ratio in the 

world ? 

(A) United Arab Emirates (B) Latvia 

(C) France    (D) Japan 

11- fuEufyf[kr esa dkSu ekuo fodkl lwpdkad dk ekid gS \ 

(A) LokLF;     (B) f’k{kk 

(C) lalk/kuksa rd igq¡p  (D) mi;qZDr lHkh  

Which of the following is a measure of Human Development 

Index? 

(A) Health    (B) Education 
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(C) Access to resources  (D) All of the above 

12- fuEufyf[kr fo}kuksa esa fdlus ekuo fodkl lwpdkad izfrikfnr fd;k gS \ 

(A) fjVj    (B) izks0 veR;Z lsu 

(C) MkW0 egcwc&my&gd  (D) bZ0 lh0 lsEiy 

Who among the following scholars has determined Human 

Development Index ? 

(A) Ritter     (B) Prof. Amartya Sen 

(C) Dr. Mahbub-ul-Haq  (D) E. C. Semple 

13- ekuo fodkl lwpdkad esa fo’o ds fuEufyf[kr ns’kksa esa fdldh dksfV mPpre 

gS\ 

(A) ukWosZ     (B) vkWLVªsfy;k 

(C) uhnjySaM    (D) teZuh 

Which of the following countries of the world has the highest rank 

in the Human Development Index ? 

(A) Norway    (B) Australia 

(C) Netherlands   (D) Germany 

14- Qwyksa dh d`f"k dgykrh gS % 

(A) fefJr d`f"k   (B) Vªd QkfeZax 

(C) jksi.k d`f"k    (D) iq"iksRiknu 

Growing of flower is called : 

(A) Mixed farming   (B) Truck farming 



8 
 

(C) Plantation farming  (D) Floriculture 

15- lgdkjh d`f"k vf/kd lQy jgh gS % 

(A) :l esa    (B) MsuekdZ esa 

(C) uhnjySaM esa    (D) Hkkjr esa 

Co-operative farming has been more successful in : 

(A) Russia    (B) Denmark 

(C) Netherlands   (D) India 

16- fuEufyf[kr esa dkSu jksi.k Qly gS \ 

(A) jcM+     (B) jkbZ 

(C) eDdk    (D) xsgw¡ 

Which of the following is a plantation crop ? 

(A) Rubber    (B) Rye 

(C) Maize    (D) Wheat 

17- fuEufyf[kr esa fdls drZu&ngu d`f"k Hkh dgrs gSa \ 

(A) l?ku fuokZg d`f"k   (B) jksi.k d`f"k 

(C) vkfne fuokZg d`f"k  (D) fefJr d`f"k 

Which of the following is also called slash-burn agriculture ? 

(A) Intensive subsistence farming 

(B) Plantation farming 

(C) Primitive subsistence farming 

(D) Mixed farming 
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18- fuEufyf[kr esa dkSu f}rh;d vkfFkZd fØ;kdyki gS \ 

(A) [ksrh     (B) vk[ksV 

(C) O;kikj    (D) ykSg izxyu 

Which of the following is a secondary economic activity ? 

(A) Farming    (B) Hunting 

(C) Trade    (D) Iron smelting 

19- fuEufyf[kr esa dkSu d`f"k vk/kkfjr m|ksx gS \ 

(A) lhesUV m|ksx   (B) yksgk&bLikr m|ksx 

(C) peM+k m|ksx   (D) twV m|ksx 

Which of the following is an agro based industry ? 

(A) Cement industry  (B) Iron and steel industry 

(C) Leather industry  (D) Jute industry 

20- fuEufyf[kr esa dkSu ou vk/kkfjr m|ksx gS \ 

(A) dkxt m|ksx    (B) lhesUV m|ksx 

(C) peM+k m|ksx   (D) xa/kd m|ksx 

Which of the following is a forest based industry ? 

(A) Paper industry   (B) Cement industry 

(C) Leather industry  (D) Sulphur industry 

21- [kuu fØ;kdyki gS % 

(A) izkFkfed    (B) f}rh;d 

(C) rr̀h;d    (D) prqFkZd 
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Mining activity is : 

(A) Primary    (B) Secondary 

(C) Tertiary    (D) Quaternary 

22- fuEufyf[kr esa dkSu iape fØ;kdyki gS \ 

(A) [ksrh     (B) vk[ksV 

(C) O;kikj    (D) ckg~;lzksru 

Which of the following is a quinary activity ? 

(A) Farming     (B) Hunting 

(C) Trade    (D) Outsourcing 

23- jsyekxZ ds tky dk l?kure ?kuRo gS % 

(A) phu esa    (B) Hkkjr esa 

(C) teZuh esa    (D) la;qDr jkT; vesfjdk esa 

The highest density of railway network is in : 

(A) China    (B) India 

(C) Germany    (D) United Sates of America 

24- o`gn Vªad ekxZ lEcfU/kr gS % 

(A) m0 vVykafVd leqnzh ekxZ ls (B) Hkwe/;lkxj&fgUn egklkxj ekxZ ls 

(C) mÙkek’kk vUrjhi ekxZ ls  (D) m0 iz’kkUr leqnzh ekxZ ls 

Great Trunk Route is related to : 

(A) North Atlantic Ocean route 

(B) Mediterranean – Indian Ocean route 
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(C) Cape of Good Hope route 

(D) North Pacific ocean route 

25- fuEufyf[kr esa dkSu vkarfjd leqnzh iÙku ugha gS \ 

(A) dksydkrk    (B) eSupsLVj 

(C) ,sFksal    (D) esfEQl 

Which of the following is not an inland sea port ?  

(A) Kolkata    (B) Manchester 

(C) Athens    (D) Memphis 

26- ysfuuxzkn fdl izdkj dk iÙku gS \ 

(A) foLrr̀ iÙku   (B) okf.kfT;d iÙku 

(C) vkS|ksfxd iÙku   (D) buesa ls dksbZ ugha 

Which type of port is Leningrad ? 

(A) Comprehensive port  (B) Commercial port 

(C) Industrial port   (D) None of these 

27- fo’o O;kikj laxBu dk eq[;ky; dgk¡ gS\ 

(A) tsusok    (B) fo;uk 

(C) U;w;kdZ    (D) okf’kaxVu 

Where is the headquarters of World Trade Organization ? 

(A) Geneva    (B) Vienna 

(C) New York   (D) Washington 

28- pSuy Vuy tksM+rk gS % 
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(A) isfjl dks yanu ls   (B) yanu dks cfyZu ls 

(C) cfyZu dks isfjl ls  (D) cklhZyksuk dks cfyZu ls 

Channel Tunnel connects : 

(A) Paris with London  (B) London with Berlin 

(C) Berlin with Paris  (D) Barcelona with Berlin 

29- fuEufyf[kr nf{k.k vesfjdh ns’kksa esa dkSu vksisd dk lnL; gS \ 

(A) fpyh    (B) czkthy 

(C) is:     (D) osustq,yk 

Which of the following South American countries is a member of 

OPEC ? 

(A) Chile    (B) Brazil 

(C) Peru    (D) Venezuela 

30- ySfVu vesfjdu baVhxzs’ku ,lksfl,’ku ¼LAIA½ dk eq[;ky; dgk¡ gS \ 

(A) tdkrkZ    (B) feaLd 

(C) ekW.VfofM;ks   (D) czqlsYl 

Where is the headquarters of Latin American Integration 

Association (LAIA) ? 

(A) Jakarta     (B) Minsk 

(C) Montevideo   (D) Brussels 

31- fuEufyf[kr vkfFkZd fØ;kvksa esa dkSu xzkeh.k vf/koklksa ls lEcfU/kr gS \ 

(A) izkFkfed    (B) f}rh;d 
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(C) rr̀h;d    (D) prqFkZd 

Which of the following economic activities is associated with rural 

settlements ? 

(A) Primary    (B) Secondary 

(C) Tertiary    (D) Quaternary 

32- fuEufyf[kr esa dkSu vkS|ksfxd uxj gS \ 

(A) yanu    (B) fiV~lcxZ 

(C) dsucsjk    (D) flaxkiqj 

Which of the following is an industrial town ? 

(A) London    (B) Pittsburgh 

(C) Canberra   (D) Singapore 

33- fuEufyf[kr esa ls dkSu bFkksfi;k dh jkt/kkuh gS \ 

(A) dSucjk    (B) yqlkdk 

(C) vnhl vckck   (D) uSjksch 

Which of the following is the capital of Ethiopia ? 

(A) Canberra    (B) Lusaka 

(B) Addis Ababa   (D) Nairobi 

34- fuEufyf[kr esa dkSu ifjogu uxj gS \ 

(A) flaxkiqj    (B) eDdk 

(C) yanu    (D) chftax 

Which of the following is a transport town ? 
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(A) Singapore   (B) Mecca 

(C) London    (D) Beijing 

35- fuEufyf[kr esa dkSu fu;ksftr uxj gS \ 

(A) dSucjk    (B) ykgkSj 

(C) /kuckn    (D) buesa ls dksbZ ugha 

Which of the following is a planned city ? 

(A) Canberra    (B) Lahore 

(C) Dhanbad    (D) None of these 

36- fdl Hkk"kk ifjokj dh tula[;k lcls de gS \ 

(A) nzfoM    (B) vkfLVªd 

(C) Hkkjrh;&;wjksih;   (D) phuh&frCcrh 

Which linguistic family has the lowest population ? 

(A) Dravid    (B) Austric 

(C) Indian-European  (D) Sino-Tibetan 

37- 2011 dh tux.kuk ds vuqlkj Hkkjr dk tla[;k ?kuRo Fkk % 

(A) 382 O;fDr@oxZ fdeh  (B) 282 O;fDr@oxZ fdeh 

(C) 402 O;fDr@oxZ fdeh  (D) 328 O;fDr@oxZ fdeh 

As per 2011 cencus, the density of population of India was : 

(A) 382 persons/Sq. km  (B) 282 persons/Sq. km 

(C) 402 persons/Sq. km  (D) 328 persons/Sq. km 

38- 2011 dh tux.kuk ds vuqlkj Hkkjr ds fdl jkT; dh tula[;k lcls de gS\ 
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(A) ukxkySaM    (B) ef.kiqj 

(C) flfDde    (D) v:.kkpy izns’k 

As per 2011 census, which state of India has the lowest 

population? 

(A) Nagaland   (B) Manipur 

(C) Sikkim    (D) Arunachal Pradesh 

39- 2011 dh tux.kuk ds vuqlkj fdl jkT; dh tula[;k dk ?kuRo lokZf/kd gS\ 

(A) egkjk"Vª    (B) fcgkj 

(C) dsjy    (D) if’pe caxky 

As per 2011 census, which state has the highest density of 

population ? 

(A) Maharashtra   (B) Bihar 

(C) Kerala    (D) West Bengal 

40- fdl jkT; esa lokZf/kd la[;k esa vkizoklh vkrs gSa \ 

(A) mÙkj izns’k    (B) egkjk"Vª 

(C) fcgkj    (D) dukZVd 

Which state receives the maximum number of immigrants ? 

(A) Uttar Pradesh   (B) Maharashtra 

(C) Bihar    (D) Karnataka 

41- Hkkjr esa iq:"k izokl dh izeq[k /kkjk gS % 

(A) xzkeh.k ls uxjh;   (B) uxjh; ls xzkeh.k 
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(C) xzkeh.k ls xzkeh.k   (D) uxjh; ls uxjh; 

The main stream of male migration in India is : 

(A) Rural to urban   (B) Urban to rural 

(C) Rural to rural   (D) Urban to urban 

42- Ekkuo fodkl lwpdkad esa Hkkjr ds fuEufyf[kr jkT;ska esa ls fdldh dksfV 

mPpre gS \ 

(A) iatkc    (B) gfj;k.kk 

(C) rfeyukMq    (D) dsjy 

Which of the following states of India has the highest rank in 

Human Development Index ? 

(A) Punjab    (B) Haryana 

(C) Tamil Nadu   (D) Kerala 

43- fuEufyf[kr dsUnz 'kkflr izns’kksa esa fdl dh lk{kjrk&nj mPpre gS \ 

(A) paMhx<+    (B) vaMeku vkSj fudksckj 

(C) neu vkSj nho   (D) y{k}hi 

Which of the following Union territories has the highest literacy 

rate? 

(A) Chandigarh   (B) Andaman and Nicobar 

(C) Daman and Diu  (D) Lakshadweep 

44- fuEufyf[kr uxjksa esa ls dkSu unh rV ij vofLFkr ugha gS \ 

(A) vkxjk    (B) dksydkrk 
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(C) iVuk     (D) Hkksiky 

Which of the following cities is not situated on river bank ? 

(A) Agra    (B) Kolkata 

(C) Patna    (D) Bhopal 

45- fuEufyf[kr esa dkSu [kuu uxj gS \ 

(A) eFkqjk    (B) vackyk  

(C) flaxjkSyh    (D) lgkjuiqj 

Which of the following is a mining town ? 

(A) Mathura    (B) Ambala 

(C) Singrauli    (D) Saharanpur 

46- gfjr Økafr lEcfU/kr gS % 

(A) [kk|kUu mRiknu ls  (B) pk; mRiknu ls 

(C) nw/k mRiknu ls   (D) buesa ls dksbZ ugha 

Green revolution is related to : 

(A) Food grain production (B) Tea production 

(C) Milk production  (D) None of these 

47- fuEufyf[kr esa dkSu js’ksnkj Qly ugha gS \ 

(A) twV     (B) dikl 

(C) dkWQh    (D) esLVk 

Which of the following is not a fibrous crop ? 

(A) Jute    (B) Cotton 
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(C) Coffee    (D) Mesta 

48- fuEufyf[kr jkT;ksa esa dkSu pk; mRiknd ugha gS \ 

(A) dsjy     (B) vle 

(C) if’pe caxky   (D) jktLFkku 

Which of the following states is not a tea producer ? 

(A) Kerala    (B) Assam 

(C) West Bengal   (D) Rajasthan 

49- fuEufyf[kr esa dkSu [kk|kUu gS \ 

(A) xUuk    (B) dkWQh 

(C) eDdk    (D) pqdUnj 

Which among the following is a foodgrain ? 

(A) Sugarcane   (B) Coffee 

(C) Maize    (D) Sugarbeet 

50- fuEufyf[kr jkT;ksa esa dkSu dikl mRiknd ugha gS \ 

(A) xqtjkr    (B) gfj;k.kk 

(C) vkU/kz izns’k    (D) fgekpy izns’k 

Which of the following states is not a cotton producer ? 

(A) Gujarat    (B) Haryana 

(C) Andhra Pradesh  (D) Himachal Pradesh 

51- fuEufyf[kr esa dkSu Hkkjr dk lcls yack jk"Vªh; jktekxZ gS \ 

(A) ,u0 ,p0 27   (B) ,u0 ,p0 44 
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(C) ,u0 ,p0 6   (D) buesa ls dksbZ ugha 

Which of the following is the longest National Highway of India ? 

(A) NH 27    (B) NH 44 

(C) NH 6    (D) None of these 

52- ty gS % 

(A) tSo lalk/ku   (B) vtSo lalk/ku 

(C) vuohdj.kh; lalk/ku  (D) buesa ls dksbZ ugha 

Water is : 

(A) Biotic resource   (B) Abiotic resource 

(C) Non-renewable resource (D) None of these 

53- dsUnz ljdkj dk ^^gfj;kyh izkstsDV** lEcfU/kr gS % 

(A) ok;q laj{k.k ls   (B) ty laj{k.k ls 

(C) (A) vkSj (B) nksuksa ls  (D) buesa ls dksbZ ugha 

Central Government’s “Hariyali Project” is associated with : 

(A) Air conservation  (B) Water conservation 

(C) Both A and B   (D) None of these 

54- fuEufyf[kr esa dkSu ÅtkZ dk vuohdj.kh; lzksr gS \ 

(A) rkih; ÅtkZ    (B) tyfo|qr ÅtkZ 

(C) iou ÅtkZ    (D) lkSj ÅtkZ 

Which of the following is non-renewable source of energy ? 

(A) Thermal energy  (B) Hydel energy 
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(C) Wind energy   (D) Solar energy 

55- ghjkdqM ifj;kstuk vofLFkr gS % 

(A) vksfM’kk esa    (B) NÙkhlx<+ esa 

(C) e/; izns’k esa   (D) >kj[kaM esa 

Hirakud Project is located in : 

(A) Odisha    (B) Chhattisgarh 

(C) Madhya Pradesh  (D) Jharkhand 

56- fuEufyf[kr jkT;ksa esa fdlesa dkdjkikj ukfHkdh; ÅtkZ dsUnz vfoLFkr gS \ 

(A) egkjk"Vª    (B) dukZVd 

(C) xqtjkr    (D) jktLFkku 

In which of the following states is Kakrapar atomic power centre 

located ? 

(A) Maharashtra   (B) Karnataka 

(C) Gujarat    (D) Rajasthan 

57- [ksrM+h rk¡ck {ks= fdl jkT; esa fLFkr gS \ 

(A) e/; izns’k    (B) >kj[kaM 

(C) xqtjkr    (D) jktLFkku 

In which state is Khetri copper field located ? 

(A) Madhya Pradesh  (B) Jharkhand 

(C) Gujarat    (D) Rajasthan 

58- Ckksdkjks bLikr dsUnz gS % 
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(A) fefJr {ks= esa   (B) futh {ks= esa 

(C) lkoZtfud {ks= esa   (D) buesa ls dksbZ ugha 

Bokaro steel centre is in : 

(A) Mixed sector   (B) Private sector 

(C) Pulic sector   (D) None of these 

59- fuEufyf[kr dks;yk [knkuksa esa dkSu >kj[kaM esa ugha gS \ 

(A) cksdkjks    (B) fxjhMhg 

(C) >fj;k    (D) flaxjkSyh 

Which of the following coal mines is not in Jharkhand ? 

(A) Bokaro    (B) Giridih 

(C) Jharia    (D) Singrauli 

60- fuEufyf[kr jkT;ksa esa ls fdl esa izeq[k rsy {ks= fLFkr gSa \ 

(A) jktLFkku    (B) fcgkj 

(C) vle    (D) rfeyukMq 

In which of the following states are the major oil fields located ? 

(A) Rajasthan   (B) Bihar 

(C) Assam    (D) Tamil Nadu 

61- ubZ vkS|ksfxd uhfr dh ?kks"k.kk dc dh xbZ \ 

(A) 19+81    (B) 1991 

(C) 2001    (D) 1993 

When was the new industrial policy announced ? 
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(A) 1981    (B) 1991 

(C) 2001    (D) 1993 

62- fuEufyf[kr esa dkSu vkS|ksfxd voLFkkiuk dk izeq[k dkjd gS \ 

(A) cktkj    (B) iw¡th 

(C) ÅtkZ    (D) buesa lHkh 

] Which of the following is the main factor of industrial location? 

(A) Market    (B) Capital 

(C) Energy    (D) All of these 

63- Hkkjr esa ok;q ifjogu lsok dh 'kq:vkr gqbZ Fkh % 

(A) 1947 esa    (B) 1911 esa 

(C) 1921 esa    (D) 1935 esa 

Air transport in India was introduced in : 

(A) 1947    (B) 1911 

(C) 1921    (D) 1935 

64- fuEufyf[kr esa dkSu iwoZ e/; jsyos eaMy dk eq[;ky; gS \ 

(A) bykgkckn    (B) dksydkrk 

(C) xksj[kiqj    (D) gkthiqj 

Which of the following is the headquarters of East-Central Railway 

zone ? 

(A) Allahabad   (B) Kolkata 

(C) Gorakhpur   (D) Hajipur 
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65- mÙkj&nf{k.k xfy;kjk tksM+rk gS % 

(A) tEew dks fr:ouUriqje ls (B) ckjkeqyk dks dU;kdqekjh ls 

(C) Jhuxj dks dU;kdqekjh ls (D) Jhuxj dks ukxjdksby ls 

North-South Corridor connects : 

(A) Jammu with Thiruvananthapuram 

(B) Baramula with Kanyakumari 

(C) Srinagar with Kanyakumari 

(D) Srinagar with Nagercoil 

66- rwrhdksfju iÙku fLFkr gS % 

(A) dsjy esa    (B) rfeyukMq esa 

(C) dukZVd esa    (D) vka/kz izns’k esa 

Tuticorin port is located in : 

(A) Kerala    (B) Tamil Nadu 

(C) Karnataka   (D) Andhra Pradesh 

67- vEy o"kkZ dk dkj.k gS % 

(A) ty iznw"k.k    (B) /ofu iznw"k.k 

(C) ok;q iznw"k.k    (D) Hkwfe iznw"k.k 

Cause of acid rain is : 

(A) Water pollution   (B) Noise pollution 

(C) Air pollution   (D) Land pollution 

68- 2010&11 esa fuEufyf[kr esa ls dkSu Hkkjr dk lcls cM+k O;kikfjd Hkkxhnkj Fkk\ 
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(A) teZuh    (B) phu 

(C) ;w0 ,0 bZ0    (D) l0 jk0 vesfjdk 

Which of the following was India’s largest trading partner in  

2010-11 ? 

(A) Germany    (B) China 

(C) U.A.E.    (D) U.S.A. 

69- /ofu iznw"k.k dk izeq[k lzksr gS % 

(A) m|ksx    (B) eksVj okgu 

(C) ykmMLihdj   (D) buesa ls lHkh 

The main source of noise pollution is : 

(A) Industry    (B) Motor Vehicle 

(C) Loudspeaker   (D) All of these 

70- izfrd"kZ vkSj vid"kZ dkjd mÙkjnk;h gSa % 

(A) izokl ds fy,   (B) ok;q iznw"k.k ds fy, 

(C) xanh cfLr;ksa ds fy,  (D) buesa ls lHkh 

Push and Pull factors are responsible for : 

(A) Migration    (B) Air pollution 

(C) Slums    (D) All of these 
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 Section-B

Short Answer Type Questions½

iz’u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 2 

vad fu/kkZfjr gSaA           (10x2=20) 

Question nos. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      (10x2=20) 

1- ekuo Hkwxksy ds pkj mi&{ks=ksa ds uke fy[ksaA 

Name four sub-sectors of Human geography. 

2- izokl ls lEcfU/kr fdUgha nks izfrd"kZ dkjdksa dk mYys[k djsaA 

Mention any two push factors related to migration. 

3- fyax lajpuk ls vki D;k le>rs gSa \ 

What do you mean by sex composition ? 

4- jksi.k d`f"k dh fdUgha pkj Qlyksa ds uke fyf[k,A 

Name any four crops of Plantation farming. 

5- lgdkjh d`f"k D;k gS \ 

What is co-operative farming? 

6- nks prqFkZd vkfFkZd fØ;kdykiksa dk mYys[k dhft,A 

Mention two quaternary economic activities. 

7- lkbcjLisl baVjusV D;k gS \ 

What is cyberspace internet ? 
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8- LFkku ,oa fLFkfr ds e/; vUrj crk,¡A 

Distinguish between site and situation. 

9- Ikkj&dSusfM;u jsyekxZ dh fdUgha pkj fo’ks"krkvksa dk mYys[k djsaA 

Mention any four characteristics of Trans-Canadian Railway. 

10- Okk;q iznw"k.k ds izeq[k lzksrksa dk mYys[k djsaA 

Mention the main sources of air pollution. 

11- eq[; Jfed vkSj lhekUr Jfed esa vUrj Li"V djsaA 

Differentiate between main worker and marginal worker. 

12- 2011 dh tux.kuk ds vuqlkj Hkkjr esa nks l?kre tula[;k ?kuRo okys jkT; 

dkSu gSa \ 

According to 2011 census, which are the two states having the 

highest density of population in India ? 

13- Qly xgurk dh x.kuk dSls dh tkrh gS\ 

How is cropping intensity calculated ? 

14- mÙkj Hkkjr esa flapkbZ ds eq[; lzksr D;k gSa \ 

What are the main sources of irrigation in north India? 

15- ÅtkZ ds uohdj.kh; rFkk vuohdj.kh; lzksrksa esa vUrj Li"V djsaA 

Distinguish between renewable and non-renewable sources of 

energy. 

16- xqtjkr ds pkj izeq[k lwrh oL= m|ksx dsUnzksa ds uke fy[ksaA 

Name four main centres of cotton textile industry of Gujarat. 
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17- LokfeRo ds vk/kkj ij m|ksxksa dks oxhZdr̀ djsaA 

Classify industries on the basis of ownership. 

18- iÙku vkSj iksrkJ; esa vUrj crkb,A 

Distinguish between port and harbour. 

19- phuh m|ksx ekSleh m|ksx D;ksa gS \ 

Why is sugar industry a seasonal industry ? 

20- Hkw&fuEuhdj.k ls vki D;k le>rs gSa \ 

What do you mean by land degradation ? 

Long Answer Type Questions

iz’u la[;k 21 ls 26 nh?kZ mÙkjh; gSaA fdUgha rhu iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 5 

vad fu/kkZfjr gSaA         (3x5=15) 

Question nos. 21 to 26 are Long Answer Type. Answer any 3 questions. 

Each question carries 5 marks.      (3x5=15) 

21- jksi.k d`f"k dh fo’ks"krkvksa dk o.kZu dhft,A 

Describe the characteristics of Plantation agriculture. 

22- tukafddh; laØe.k fl)kUr dh foospuk dhft,A 

Discuss Demographic transition theory. 

23- Hkkjr ds vkfFkZd fodkl esa jsyos dh Hkwfedk dh foospuk dhft,A 

Discuss the role of railway in the economic development of India. 

24- Hkkjr esa pk; ds mRiknu ,oa forj.k dk fooj.k nhft,A 
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Give an account of production and distribution of tea in India. 

25- Hkkjr esa [kfut rsy {ks=ksa ds forj.k dk o.kZu dhft,A 

Describe the distribution of mineral oil fields in India. 

26- Hkkjr dk ekufp= cukb, vkSj fuEufyf[kr dks iznf’kZr dhft, % 

(A) ikjknhi    (B) usosyh 

(C) dkuiqj    (D) cks/k x;k 

b- egkunh 

Draw a map of India and show the following : 

(A) Paradip    (B) Neyveli 

(C) Kanpur    (D) Bodh Gaya 

(E) Mahanadi 


